Chapter 8   Accounting for and Presentation of Stockholders’ Equity

Solutions to Odd-Numbered Problems

	CHAPTER 8
	
	Accounting for and Presentation of Stockholders’ Equity




	E8.5.  
	

	
	                                  A         =            L         +           PIC        +       RE  

Beginning……..$    (4)                  $  (3)                       (1)                   (2)       $520,000 SE

Changes……….+260,000             +21,000             +40,000             + (7)        Net income
                                                                                                           -55,000   Dividends

Ending………...       (5)        =      $234,000   +      $175,000     +       (6)      .            

	
	

	
	Steps:                                                                        Short-cut approach:
1.  $175,000 - $40,000 = $135,000                         $260,000 =  + $21,000 + $40,000

2.  $520,000 - $135,000 = $385,000                                           + Net income  - $55,000

3.  $234,000 - $21,000 = $213,000

4.  $213,000 + $520,000 = $733,000                                              Net income = $254,000
5.  $733,000 + $260,000 = $993,000

6.  $993,000 - $234,000 - $175,000 = $584,000

7.  $385,000 + Net income - $55,000 = $584,000

     Net income = $254,000


	E8.7.  
	

	
	Retained earnings, December 31, 2013




    $346,400

Add: Net income for the year






        56,900

Less: Dividends for the year






      (32,500)
Retained earnings, December 31, 2014




    $370,800


	E8.9.  
	

	a.
	Balance sheet amount equals number of shares issued * par value.

   1,400,000 shares * $5 = $7,000,000

	
	

	b.
	Cash dividends are paid on shares outstanding. 

   1,250,000 shares * $0.15 = $187,500

	
	

	c.
	Treasury stock accounts for the difference between shares issued and shares outstanding.


	E8.11.  
	

	a.
	Number of shares issued 





             161,522

Less: Number of shares in treasury




             (43,373)
Number of shares outstanding




             118,149

Dividend requirement per share




              * $3.75
Total annual dividends required to be paid



      $443,058.75


	E8.11.  
	(continued)

	b.
	Dividend per share (6% * $40 par value)



                $2.40

Number of shares outstanding




               73,621
Total annual dividends required to be paid



      $176,690.40

	
	

	c.
	Dividend per share (11.4% * $100 stated value)


               $11.40

Number of shares outstanding




               37,600
Total annual dividends required to be paid



           $428,640


	E8.13.  
	

	
	Preferred dividends for 2012, 2013, and 2014 would have to be paid before a dividend on the common stock could be paid.  Annual dividend = $6.50 * 22,000 shares = $143,000 

Dividends for 3 years = 3 * $143,000 = $429,000


	E8.15.  
	

	a.
	February 21 is the declaration date.  Because this is a regular dividend of the same amount as prior dividends, the stock price would not be significantly affected.

	
	

	b.
	March 13 is the ex‑dividend date.  On this date the market price of the stock is likely to fall by the amount of the dividend because purchasers will not receive the dividend.

	
	

	c.
	March 15 is the record date.  The market price of the stock should not be affected because for a publicly traded stock it is the ex‑dividend date that affects who receives the dividend.

	
	

	d.
	March 30 is the payment date.  The market price of the stock should not be affected because the corporation is merely paying a liability (dividends payable).


	E8.17.  
	

	
	To declare a dividend, the firm must have retained earnings and enough cash to pay the dividend.  Of course, the board of directors must approve a dividend.


	E8.19.  
	

	
	If the company can reinvest retained earnings at a higher ROI than I could earn on the money paid to me in dividends, I would prefer that the company not pay a cash dividend  (Apple, Inc. is a perfect example).  If I needed current income from my investment, I would want cash dividends.  As a common stock investor, I don't really care whether or not the company issues a stock dividend, because a stock dividend doesn't change my equity in the company, the total market value of my investment, or the company's ability 

to earn a return on my investment.


	E8.21.  
	

	a.
	A 2‑for‑1 split means that for every share now owned, the stockholder will own 2 shares. Thus, I will own 1,000 shares.

	
	

	b.
	Because there are now twice as many shares of stock outstanding, and the financial condition of the company hasn't changed, the market price per share should be half of what it was, or $20 per share.  The total market value of my investment will not have changed.

	
	

	c.
	The par value per share is also likely to be split in half (i.e., from $10 to $5), but this does not happen automatically—any changes in par value per share require action by the board of directors.  


	P8.23.  
	

	a.
	                               Balance Sheet                                                Income Statement             .                       

    Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses
1. January 1, 2013 to record stock issuances:

    Cash                               Common Stock 

    + 10,170,000                  + 2,850,000

                                           Preferred Stock

                                           + 6,000,000

                                           Additional 

                                           Paid-In Capital

                                           + 1,320,000

	
	

	
	2. December 28, 2014 to record the declaration of dividends:
                      Dividends     Retained

                      Payable         Earnings

                      + 1,800,000  - 1,800,000 

	
	

	
	3. February 12, 2015 to record the payment of dividends:

    Cash          Dividends                                                                                                       

 - 1,800,000  Payable                                                                                                         

                      - 1,800,000    

	
	

	P8.23.
a.
	(continued)

1. January 1, 2013:

Dr.   Cash ((150,000 @ $19) +  (60,000 @ $122))


  10,170,000

      Cr.   Common Stock (150,000 shares @ $19 per share)

                       2,850,000

      Cr.   Preferred Stock (60,000 shares @ $100 per share)

                       6,000,000

      Cr.   Additional Paid-In Capital--Preferred (60,000 @ $22)
                       1,320,000

To record stock issuances.

	
	

	
	2. December 28, 2014:
Dr.   Retained Earnings





   1,800,000

      Cr.   Dividends Payable





                       1,800,000

To record the declaration of dividends.

	
	

	
	3. February 12, 2015:
Dr.   Dividends Payable





   1,800,000

      Cr.   Cash







                       1,800,000

To record the payment of dividends.

	
	

	b.
	Preferred shareholders are entitled to one year of dividends in arrears (for 2013), as well as their current year preference (for 2014).  60,000 shares * $100 par per share * 9.5% = 

$570,000 per year * 2 years = $1,140,000


	P8.25.  
	

	a.
	                               Balance Sheet                                                  Income Statement           .                       

    Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses

May 4, 2013 to record the purchase of 800 shares of treasury stock @ $18.25 per share:
    Cash                               Treasury Stock 

    - 14,600                         - 14,600

	
	

	b.
	June 15, 2013 to record the declaration and payment of a cash dividend:
    Cash                               Retained 

    - 12,390                         Earnings 

                                           - 12,390  

	
	

	c.
	September 19, 2013 to record the sale of 600 shares of treasury stock @ $19.50 per share:
    Cash                               Treasury Stock 

    + 11,700                         + 10,950 

                                           Additional 

                                           Paid‑in Capital

                                           + 750

	
	

	P.8.25.

a.
	(continued)

May 4, 2013:

Dr.   Treasury Stock






     14,600

      Cr.   Cash







                      14,600

To record the purchase of 800 shares of treasury stock @ $18.25 per share.

	
	

	b.
	June 15, 2013:

Dr.   Retained Earnings (36,200 - 800 = 35,400 shares * $0.35)
     12,390

      Cr.   Cash







                      12,390

To record the declaration and payment of a cash dividend.

	
	

	c.
	c. September 19, 2013:
Dr.   Cash (600 shares @ $19.50)




     11,700

      Cr.   Treasury Stock (600 shares @ $18.25)


                      10,950

      Cr.   Additional Paid‑In Capital (600 shares @ $1.25)

                           750

To record the sale of 600 shares of treasury stock @ $19.50 per share.


	P8.27.  
	

	
	                          Other                              Paid-in       Retained     Treasury        Net 

      Cash           Assets       Liabilities       Capital       Earnings      Stock *      Income

	a.
	 +205,000                                               +205,000

	b.
	                                           +18,450                            -18,450

	c.
	    -35,100                                                                                       +35,100

	d.
	                      +113,000                          +113,000  

	e.
	   +17,400                                                   +1,200                          -16,200

	f.
	No entry is required for a stock split.

	
	*  Note that an increase in treasury stock (for a purchase transaction such as item c) decreases total stockholders’ equity, and a decrease in treasury stock (for a sale transaction such as item e) increases total stockholders’ equity.  The effects shown are with respect to the Treasury Stock account, which is a contra stockholders’ equity account.

	
	


	a.
	Dr.   Cash ($50 par * 4,100 shares)




   205,000

      Cr.    Preferred Stock





                   205,000

	



	b.
	Dr.   Retained Earnings ($50 par * 9% * 4,100 shares)


     18,450

      Cr.   Dividends Payable





                     18,450

	
	

	c.
	Dr.   Treasury Stock ($54 per share * 650 shares)


     35,100

      Cr.   Cash







                     35,100

	
	

	d.
	Dr.   Land (market value)





   113,000

      Cr.   Common Stock ($1 par * 2,000 shares)



                       2,000

      Cr.   Additional Paid-In Capital (excess over par)


                   111,000

	
	

	e.
	Dr.   Cash ($58 per share * 300 shares)




     17,400

      Cr.   Treasury Stock ($54 per share * 300 shares)


                     16,200

      Cr.   Additional Paid-In Capital ($4 excess * 300 shares)

                       1,200

	
	

	f.
	No entry is required for a stock split.


	P8.29.  
	

	
	                          Other                              Paid-in       Retained     Treasury        Net 

      Cash           Assets       Liabilities       Capital       Earnings      Stock *      Income

	a.
	  + 90,000                                                + 90,000

	b.
	                      + 40,000                            + 40,000

	c.
	    - 3,200                                                                    - 3,200

	d.
	    - 4,750                                                                                        + 4,750

	e.
	                                           + 6,713                              - 6,713

	f.
	    + 2,600                                                    + 130                           - 2,470

	g.
	                                                               + 28,350      - 28,350

	h.
	No entry is required for a stock split.

	
	

	
	* Note that an increase in treasury stock (for a purchase transaction such as item d) decreases 

total stockholders’ equity, and a decrease in treasury stock (for a sale transaction such as item f) increases total stockholders’ equity.  The effects shown are with respect to the Treasury Stock account, which is a contra stockholders’ equity account.

	
	

	a.
	Dr.   Cash







        90,000

      Cr.   Common Stock ($1 per share * 5,000 shares)

                        5,000

      Cr.   Additional Paid-In Capital ($17 per share * 5,000 shares)
                      85,000

	
	

	b.
	Dr.   Land and Building 





        40,000

      Cr.   Preferred Stock ($40 per share * 1,000 shares)

                      40,000

	
	

	c.
	Dr.   Retained Earnings ($40 per share * 8% * 1,000 shares)
          3,200

      Cr.   Cash







                        3,200


	d.
	Dr.   Treasury Stock ($4,750 / 250 shares = $19 per share)

          4,750

      Cr.   Cash







                        4,750

	
	

	e.
	Dr.   Retained Earnings (40,000 + 5,000 - 250 = 44,750 shares)
          6,713

      Cr.   Dividends Payable ($0.15 per share * 44,750 shares outstanding)              6,713

	
	

	f.
	Dr.   Cash ($20 per share * 130 shares)



            2,600

      Cr.   Treasury Stock ($19 per share * 130 shares)

                        2,470

      Cr.   Additional Paid-In Capital ($1 per share * 130 shares)
                           130

	
	

	g.
	Dr.   Retained Earnings (45,000 shares issued * 3% = 1,350)
         28,350

      Cr.   Common Stock ($1 per share * 1,350 dividend shares)
                         1,350

      Cr.   Additional Paid-In Capital ($20 per share * 1,350 per share)                     27,000

	
	

	h.
	No entry is required for stock split.


	 

	P8.31.


a.
	Annual dividend per share (12% * $60)



         $    7.20

Number of shares outstanding




             1,500
Annual dividend requirement





         $10,800

	
	

	b.
	Balance sheet amount =  ($60 par value * 1,500 shares issued) = $90,000

	
	

	c.
	Number shares issued =  ($240,000 balance sheet amount / $8 par value) = 30,000   

Number shares outstanding = (30,000 shares issued - 2,000 treasury shares) = 28,000 

	
	

	d.
	                                                                                                                        Additional

                                                                                      Common Stock     Paid‑in Capital
November 30, 2013




        $240,000               $540,000

January 1, 2013




         (210,000)              (468,750)

Increase





        $  30,000               $  71,250
Number of shares sold =  ($30,000 increase in common stock / $8 par value) = 3,750

Selling price per share  = (($30,000 increase in common stock + $71,250 increase in

additional paid‑in capital) / 3,750 shares sold) = $27 per share

	
	

	e.
	Treasury stock was resold at a price greater than its cost.

	
	

	f.
	Retained earnings, January 1, 2013




        $90,300

Add: Net income






          24,000

Less: Preferred stock dividends (see answer to part a)

         (10,800) 

Less: Common stock dividends




              ?     . 
Retained earnings, November 30, 2013



        $97,000
Solving for the unknown amount, common stock dividends = $6,500
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